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1) wemelt WE-13 @ yEd g% W A9 ATEAS A fored | - 1) Write Roll No. on the first page of the Question Paper.
2) GE U @ WIS ST AT UK a2 T 2) Marks for every questicn_areindicaledalungsidc.

|Ug — 3 /Section - A | |

 I%gf1s 9¥d,/Multiple Choice Questions - . .
4 fpT § @ PR g i 87 ' ' ()
(A) 025 B 017 © V3 @ T A BE A
Irrational number is - ' .
(A) 025 (B) 0.17 (C) 3 (D) - None of these :
cg2 o fog @ frewie @ - | Lo (1)
) (A) (0,0) ®) @D © &y D %0
Co-ordinate of origin is - ) - o
(A) (0,0 (B) (L 1) € &y (D) . (x0)
y3  UF G V& W a4 Sl & AfrEas 37 gar @ — o o (1)
(A) 180° (B)  360° € 0 (D) 90°
The maximum addition of angle on a straight line is - - _ '
: (A) 180° (B) 360° © . D 9w _
vi U@ e ddism e e GmEwe - (1)
(A)  60° @) 90° - (C) 180° @)  360°
The sum of interior angle of triangle is - SRR S
(A)  60° @) 90°  (C) 180° (D) 360° o
so g ugyor # faertt gond B 87 ct | | W
@ 1 B) 4 (© 3¢ @ 2. o
How many sides of quadrilateral are there? ;
A v (B) 4 < 3 O 2
16 ERAEIHIE - (1)
(A) /s(s—a)(s—b) (B) s(s—a)(s—c)
© JsG-a)(s-b(s-0 D sGs-b)E-0)
Heron's formula is - o - :
(A}  /s(s—a)(s—b) . (B) s(s—a)(s—o)
€y Jss—a)s—b)s—¢c) ' D JsG~-D)(s—c) |
7 o wrag e 3 Read A gend B 87 S "
(A) 2 (B) 3 Ot (O TR
How many equal sides are there in isosceles triangle? G
(A) 2 ® 3 o 1 (D) None of side
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faw g form 4 POQ U% WY YT 21 x T A S B
In the givenlﬁgurc, POQ is a line. Find the value of x.

\, 4X 4

M

g B aw gs @ e § ~
(A] 2mrh {BJ wrl () nr’h () ﬂr(l’+h) E E
The curved surface aren of a cone is - - : w7
(A)  2mrh {B) mrl (€ wrh (D) mr(reh) E] :
&5 1 e Mme ey o1 Tl aim § ‘ (1)
@ [l ®) | © M ©) R
The correct way of showing tally mark of § is - '
@ ®) |} © M (D) None of these
<% yraw ¥ 7S B A o g B mifg - ' (1)
(A) = (B) R © omm@ (D) W
The distance between the bars in n bar graph is - '
(A)  Zero . (B)  Equal (C)  Unequal (D) Less
B{us — §/Section-B
Rer wrr wRT,/Fill in the blanks -
Z 1
The value of (32)5 18 ot :
it aa ¥ Y 36 BT e %J (1)
The equation of Y axis in Cartesian plaru: 18 o : -
¥ @Y W e g B oeEd 8§ md‘ﬁlﬂﬂaﬁw o VT R (1)
The lines which are perpendicular to each other makes ............ ......... angle
The opposite angle of parallelogram is '
watme frget ¥ T W . SRR - - & -1 (1
Corresponding part of congruent mang]e is .
e T e A U . - I (1)
The relatmn between d:ameter and radits iS ... iieierrsranfonnn i o
v P RreeT aR 7 A, T S 4 6§ ﬁ‘raﬁatb'a i A2 BV (1)
2
A triangle having base 7cm and henght 4cm, then area WITBE vvvvvviieenie v cm?,
<l SHaEdl WP .. Y PR el 2 . )
The height of the bar depcnds qn thc .......... ;.;; .............. of the vanahle
: TGUE — '\I-T / Section - C
afer eTEERIeIS WE / Very short answer type questlons - )
k 1 T ST B, Al x =3,y =2 WP 2% +y = Ll @)
Find the value of k, if x = 3, y =2 is a solution of 2x +y = k. %
2
~2x (2x + 2y) BT 4 T BT
Find the value of —2x (2x + 2y). .
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%22 . ABCafR DRC WA SR BO Y &) wrafarg gt &1 R B LARD w 2acy
'ABC and DBC are two isosceles trinngle on same base BC. Prove that &ABD w £ ACD

]

W23 qmﬂ'ﬁmﬂﬂﬂwsi 5:10; nﬁmmﬂﬂﬂ‘rmmﬂﬂﬂmrm

The ratio of the qu1dnlntmﬂ arcd :5:10: 11, Find the value ol’cut.h angle of [hc quadrilaterats,

ﬁ-q v o | z.ABc = 69° T LACD = 31° %, T4 ZBDC BT #ifig |

* In this figure, LABC = 69" and ZACD = 31° then find the nngle ZBDC.

q.25 wﬁgﬁmeﬁqﬁmlsﬁ %|%ﬁﬁﬁwmlzﬂ %Jﬁ‘iﬂﬁﬁﬂﬁﬂﬂiﬂﬂﬁﬂﬂ’”

The semi perimeter of" manaular plot is 15m with two equal sulcs of 12m. Find: the area of the triangle.

426 . wwgﬁwﬁﬂwwﬁmﬁmmwaﬁmeﬁﬁ? Y

Find the area of an equilateral mang]e whose len gth of each su:le is Gem.

927 uﬁ*wmaﬁﬁwsﬁﬁ: mmmazﬁﬁﬁmwmwaﬂh

If the raqu of the ::ylmder is Sem aud its height is 12cm ‘then: Fnd its volume.

728 mwﬁmga% wﬁmﬁﬁrzﬁwwmﬁm
6869?65692 '
ﬁmaﬁ%aﬁﬁngaﬁwwmmmﬂﬁmr
The marks of 10 students of Claqs 9‘“ in thc ﬁrst test arcasfnllows-
'6,8,6,9,7,6,5.6.9,2 |

Make a frequency table by u*-:mg tal]y marks.
729 wa“fﬂs‘mwﬁaﬁam ﬁmnﬁrﬁwﬁﬁq— _

_.'_(i)'-- frery faenfefat @ st 9 wR?
iy feer Prenffl @ ofe s @ @@

By observmg above quesuun table, give answers of the followmg que:hons -

(i) . - How man} students got 9 marks?

: '{ij} HOW many studcqm got less than 8 marks?

ERE
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H.30

0.2 | (=
353535 = 0.235, "13 ?f‘ WY N @R R |- _ E] [ ®)
Show that 0.2353535 = O.EE.cxpnzss itin the form of . m
w3t P N e wdafed ke 3)
Write any three identities.
982  2x+y=5% 99 v (ol @
Write any three solutions of 2x 4+ y = §, -
33 P Ry ot et ¥ R & ©
Write the quadrant of these points <
M (=2,-3) @ 50 (i) (=1,2)
34 & oy ¥ 9 AC=BD R fﬂﬁaa‘}ﬁqﬁu\n =CD R 9
In this ﬁqurc if AC = BD, then pmw.lh.u AB =CD.
A : B C D
Hug — T-'I/Sectlon D
935" ﬁawﬁawﬁmﬂaﬁmﬁwws‘ﬁﬁl )
Prove that the angles of a sc gment in a circle are equal
w36 et Bragst 1 et 604 1001‘&&2111401?: Lk ﬁ'ff‘ftﬁrm‘ﬂ'dﬁl @)
The sides ofa m'i.uglc is. 60111 iOOm and lcmm recpecrwcly Find the area of the triangle.
w37 wwﬁmﬁﬁuﬂmﬁﬂ aan—m?ff‘aw Gﬁns‘?'\e”ﬂ ?l?ﬂ”ﬁ*a’ﬁa[ 1Y
ﬁv—crrﬁ oTg @ Tl S @)
A cumcal vessel is to be made whose ndms is 4cm and slant height is 7em, then how much metal will be
cqmred for malmg the vessel?
9.38 WW#?%‘? 1‘3-44}@?"?3“'53’?'?‘”1;“'3"\“}”3 I ﬁ?ﬂfﬁ T 360 R
& g g g kT % e o TR X et g | e
EXA TR wfear g & (% )
[ | o e BE o 318
2 | B 'ﬂ’ﬁﬁm AT 254
4 == Em%.fh—, SobT AT 4.3
. ' 4.1
1 5 A GJEH’?JF.. | | 20 E1 EI
/ 6 g DR 1 e J L
Eﬂﬁq@wwquﬁmwwm | Eﬁ%
——*——;"T'"_-"—_.'_—__-_ -
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A survey conducted by an organisation for the cause of illness and death among the women between the

age (15-44) in years, found the following figure (in %) -
' i

~ Female fatnlity : ..E EI

Sr. No, Causes
rate (in %) E]

i Reproductive health condition 31.8

2 Neuropsychiatric condition . 254

3 Injuries 12.4

4 Cardiovascular condition 4.3

5 Respiratory condition | 41

6 Other causes 22.0

—_—

. Represent the information given above graphically.
g3e  TF WA P A T P e Bow 063 W F1 . 2

Find the volume of a sphere whose radius is 0.63m.

SrdaaNTS W/ Long answer type questions -

W40 ma‘vﬂﬁmﬁmnzsﬁﬁrmﬁ@ﬁﬂwhmmﬁaﬁmﬁmﬁwsﬁﬁ%wﬂ%

mﬁwwq@uaﬁmwﬁl

A hemispherical bowl is made of steel 0.25¢cm thlck The inner radius of the bowl is Scm. Fmd the outer

curved surface arca of the bowl.

41 ﬁqwﬁﬁﬁw@waﬂnﬁhﬁgmﬁﬁmﬁ?ﬁmaﬂ?aﬁmﬁmaﬁmﬁ? . (8) -

Based on the given measures, find out which vessel contain more capacity of liquid?

_(4}

742 wmﬁﬁﬁﬁ%wﬁwaﬂwm$mﬁﬂﬁﬁﬁwﬁmﬁmﬁqw| @
Prale o qEoie | s @ g .

140- 150 5
150 - 160 10
160 - 170 20
170 - 180
180 - 190 6
190 - 200 . .

mr 52

- X 00

SR U TC ATE W Th IRERAT g i |

=]
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In a city. the weekly observations made in a study on the cost of living index are given in the following

table.

Cost of living index | Number of wecks

40-150 5
150 - 160 10
160 - 170 20
170 - 180 9
18D - 190 6
190 - 200 2

Total 52

Draw a frequency polygon for the above data,

W43 9 W AR A oS BEN N W AR @ wimRa B da wr deny @

& HHEIRAT BY
Lirc)
10000 — 15000 10
15000 — 20000 16
20000 — 25000 14
25000 - 30000 5
30000 — 35000 3

ﬁqwmﬂﬁﬁ?ﬁﬁﬁﬁmwamﬁﬁﬁﬁm

The following table shi:nws the observation of the salaries of 'ernpidy'ccs working in a factory.

Draw a histogram representing the piven data.

Salary

10000 — 15000
15000 ~ 20000
20000 — 25000
25000 = 30000
30000 = 35000

Number of
_Emplo;'u‘fs
16
14
5.
3

0.

f9uTHE WY/ Essay type questions - _
Ra4 R HET BT GAS U SN B R T4 SR W, T GBE G A 4989639 gY | AR
[EE BT B & 20T 9fT a1 Arex & @ siwr A —

i)

Tag &1 FARE 786 gy aawa

(i) T4q B e P Gl BT ITTH
A dome of building is in the form of a hemisphere. From inside, it was white-washed at the cost of

% 498.96. If the cost of white washing is T 2.0 per square metre, find -

)

Inside surface area of the dome

(i) Vcﬂum% of the air inside the dome

HAGT

OR

S e T A e A R ydig v 616t A ¥

Find the volume of sphere whose surface arca is 616 ¢m?.

[=]¢5(e]
Yeiarbs

B

=]
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5145 ‘ﬁ%’-‘ﬁ'Témwﬁ'Wﬁmwm?}@?lﬂﬁﬂaﬂ(ﬁ)aﬁmmﬁhﬁwﬂﬁﬁmm?!
[ wfA =
| wWRww | dw | e
0-10 |73 0-10 3
10- 20 9 1020 19
20 - 30 17 20 - 30 5
30-40 12 30-40 20
40 - 50 9 40 - 50 I

< AR TR P W W 0 @ oo WA S 3 R & s R
Wtﬁ%mmwﬁﬁﬂwﬁ{ﬁ}ﬁﬁmﬁﬁ%wmt

The following table gives the distribution of two scctions of students according to the marks obtained by

them.
Section A Sectlon B

Marks | Frequency | Marks Frequency
0-10 3 0-10 5
10-20 9 1 10-20 19
20-30 17 20-30 15

30 -40 12 30-40 20

40 - 50 9 40 - 50 ]

Represent the marks obtained by the students of both the sections on a single graph with the help of two
frequency polygons. Study both the polygons and compare the results of both the sections.

_ 3eEr /OR
& fibbe m # ) O A sik B ERT wom 60 7¥el F T g @ AW R Mo #

el o W= THA | SWB
1-6
7-12

S 13-18
19-24
425 - 30
31-136

. 37 - 42
! 43 - 48
' 49 - 54

.- . __ 55-60 | 2 _ 10|
INFERGT 5 B e | Uh 3T T ST S B A HAehd B |

The runs scored by two teams A and B on the first 60 balls in a cricket match are given below.

w-hwa\mawc\'-n

SO = S U DR 2

Number of balls | Team A | Team B
1-6 2 5
' T-12 1 6
j 13-18° - 8 . 2
} 19 -24 9 | 10
" ' ' 25-30 4 5
31-136 5 6 -
CLL - 37-42 6 3
3 43 -48 10 4
' ' 49 - 54 6 .8
55 - 60 2 10

Rgﬁrescn[ the data of both the teams on the same graph by frequency.

P
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